snoo. REVISIONS wiE o
A ORIGINAL ISSUE 12/2/05 |BMB
B SHORTEN BY 1” 16-Jun-08[AFF

3/8" 24 S8 NUT

STRUT ASSEMBLY:
MATERIAL: @1° 0D 0.065 WALL TUBE
3/8" SS FLAT WASHER
3/8" SS 24 JAM NUT
MAKE TwO ASSEMBLIES PER BOAT
BRIGHT POLISH AFTER FABRICATION

Lo/2

£ e

’

4* SS. FLAT WASHER

3/8" 24 SS. NUT

[ IR

STRUT260
] L [

[ ]
23 STRUT

Boicr THE Same ) DifFtereNT CoT LENGTAS




